Chapter 6
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1. Explicit cost
2. Implicit cost
3. Economic cost = opportunity cost =
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[ accounting profit = total revenue — accounting cost
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Total fixed cost, TFC
Total variable cost, TVC
3. Short run total cost, TC
TC=rKy+wL=TFC+TVC

() Average cost, AC

1. AFC=TFC/Q
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2. AVC=TVC/Q
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3. Short run average cost, SAC
AFC+AVC=AC=TC/

) Marginal cost, MC
1
e = 4TC _ d(TFC+TVC) _ dTFC  dTVC _ dTVC
dQ dQ dQ dQ dQ
» ATC = ATVC + ATFC = ATVC + 0 = ATVC
Py=1 | P =2
TC| AFC | AVC | AC | MC | AP | MP
TP | K L | TFC | TVC
10 0 10 0 [10] - - - - - -
10 1 10 2 | 12| 10/6 | 2/6 2 2/6 6 6
14 | 10 | 2 10 4 |14 | 10/14 | 4/14 1 2/8 7
26 | 10 3 10 6 |16 ]10/26 | 6/26 | 0.6 | 2/12 | 26/3 | 12
37 | 10 | 4 10 8 | 18 | 10/37 | 837 | 0.49 | 2/11 | 37/4 | 11
46 | 10 5 10 | 10 | 20 | 10/46 | 10/46 | 0.43 | 2/9 | 46/5 9
52 | 10 6 10 | 12 |22 ]10/52 | 12/52 0423 | 2/6 | 52/6 | 6
57 | 10 7 10 | 14 | 24 | 10/57 | 14/57 | 0.421 | 2/5 | 57/7 5
60 | 10 8 10 | 16 |26 | 10/60 | 16/80 | 0.43 | 2/3 | 60/8 3
61 | 10 9 10 | 18 |28 | 10/61 | 18/61 | 0.46 | 2 61/9 1
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I. MC  AVC I. MP AP
2. MC  AC 2. -
3. MC,AVC,AC 3. MPAP
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Economies of scale
LAC —
Diseconomies of scale
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q? LAC LAC Minimum efficient scale
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